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A good New Year’s Resolution might be to work harder at problem solving.  This should not be confined to positions from actual play but also composed problems.  Many players ignore the latter on the grounds their artificiality is far removed from real play but they can help develop the imagination and occasionally prove the inspiration for brilliant combinations.  It is quite possible that the problem below by the 18th century Italian master Domenico Ercole del Rio enabled the Armenian GM Levon Aronian to welcome with confidence a pawn ending in which he would be 3 pawns down with no passed pawn nor any means of actively producing a passed pawn.  First see if you can solve the problem with a zugzwang theme (White to play and win – 10 moves) and then play through the wonderful game:
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      ALEXEI  SHIROV   -   LEVON  ARONIAN



                Tal Memorial, Moscow, Nov 2006




           Ruy Lopez, Marshall (Counter) Gambit




 1     e4   
e5  


 2     Nf3  
Nc6




 3     Bb5  
a6   


 4     Ba4  
Nf6




 5     0-0  
Be7  


 6     Re1  
b5




 7     Bb3  
0-0  


 8     c3  
d5




 9     exd  
Nxd5  


10    Nxe5  
Nxe5




11    Rxe5  
c6  


12    d4   
Bd6




13    Re1  
Qh4  


14    g3   
Qh3




15    Re4  
g5   


16    Qf1  
Qh5




17    Nd2  
Bf5  


18    f3   
Nf6




19    a4   
Nxe4    

20    Nxe4   
Qg6




21    Nxd6   
Qxd6   


22    Bxg5   
Qg6




23    Qc1   
Bd3!   


24    axb   
axb




25    Rxa8  
Rxa8 


26    Kf2  
Bc4!!




27    Bxc4(a)  
bxc4  


28    g4  
Re8




29    Bf4  
Qd3  


30    Kg3(b) 
Qe2




31    Qb1
Qe1+  


32    Qxe1  
Rxe1




33    Bd6  
Rg1+  


34    Kf2  
Rb1




35    Ba3  
Kg7  


36    Kg3  
Kg6




37    h3  
h5   


38    Kh4? 
Rg1!(c)



39    Bc5  
Rg2 


40    Ba3  
f6




41    gxh5+(d) 
Kf5(e)  

42    f4  
Rg8



43    Bd6  
Ke6(f)  

44    h6?  
Kxd6!



45    Kh5  
f5!  


46    h7   
Rh8




47    Kg6  
Ke7  


48    Kg7  
Ke8!!




49    Kg6(g)  
Kf8  


50    h4   
Ke7




51    Kg7  
Ke8  


52    Kg6
Kf8



53    h5    
Ke7  


54    Kg7  
Ke8




55    Kg6  
Kf8  


56    h6   
Ke8




57    Kf6  
Rxh7  


58    Kg6  
Rf7




59    h7  
Rf8  


60    Kg7  
Rh8!




61    Kxh8  
Kf8  


White resigns(h)
a)  If 27 Bc2, Qe6 to penetrate with 28…Qe2+ or 28….Qh3.

b)  30 Be5 to block the e file is met by 30…f6!   

c)  Imprisoning the king on the h file. 
d)  If 41 f4, hxg  42 hxg, f5! and White’s position collapses.

e)  41…Kg7 was better when White soon runs out of moves.

f)  Tempting White into sacrificing his bishop.

g)  If 49 Kxh8, Kf7 and White will eventually have to play b4.

h)  This brilliant win helped Aronian finish equal first with Peter Leko and Ruslan Ponamariov on 5.5/9 in the 10 player Tal Memorial.

SOLUTION:  1 Rg6+, Kf3! (1…Kh6  2 Kf2! h1=Q/N loses quickly) 2 Rf6+, Kg2  3 Rf2+, Kg3  4 Rf1, Kg2  5 Rh1!! Kxh1  6 Kf1, a5  7 axb, b4  8 a6, b3  9 a7, b2  10 a8=Q/B#. 
